20158 & 20

Z

E 0 &

A ABHS A MSAIZ2el o

D HISAIE2e
CHSsAE2eD 2
CHSAMES 2l

SA - BB B () - MM - BES Ol &t o il 2
22|t 1,520,467 1,391,746 128,721
gzl 23 1,412,669 1,285,809 126,860

HMEAEES 22 1,053,669 916,309 137,360
FANE 29 992,439 841,729 150,710
101 @124l 81,734 78,077 3,657
04 D12t 22 HEE = 81,734 78,077 3,657

OaU==gE otE)| Ad2RT 22 4,682
—Jlz2s3 46,8203 2 x50 4,682
ORI SLHST MENY 02y
45,000 x5 x3 x4 3] 2,700
OfF4 HUAZ KREFINE S3EHH ARY 31,368
—Jles 45,0003 »2H x252 22,680
— 2+AlH| 2,000 x2H «251 +23] 2,008
-5 45,0003 =2 x52 4,680
— BE S| 200,000& x2H *23] 800
—Ws2xdl 50,000& «2H 128 1,200
O=sZis2 334 a2 15,684
—Jlas 45,0003 =18 «252 11,340
— Z2HAY| 2,000 *1H %2512 %23 1,004
— ZE S| 200,000& x 1«23 400
- &5 45,0003 * 1«52 2,340
—s2xdl 50,0003 1 122 600
ORF4 M M=XY AR (HLAH,
=228 =7H) 45,0002 6% *32! +43] 3,240
ORF4 MATIEN ZIE HFZHA AR
5,000 3«6 +32 43| 3,240
OII+=ZI&E Ex=HIAH =2
45,000 3H «4 *33] 1,620
Of=4 HUAZ IX =< 19,200
—AsS 80,0003 *20H 12 «60% 11,520
—B= 80,0003 *20H 123 *40% 7,680
201 YEr2 2t 718,063 672,763 45,300
01 At 22l 56,126 43,826 12,300
Oget=&H| 56,126
—SEZANSsS d)|otdze He++2
23,0003 12 9,876
—REZIE Mot ze| s+ 2
238,000 128 2,856
—MSAE(MsS, 22 & )gst2e
PR =2 650,000 128 7,800
—HSAME W =M AARASH ZEEIL
=2 200,000 *7H 2 1,400




2N

M= A4 2tel

FM: MESAL2elt 29
Eel: MsAEE 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
“=unsa e ZIAN 2ae
300,000& 12 300
~HSB AYE 2U BIUM 242 (28

3CH) 180,000& »3CH 13l 540

—Hs2 2de 4sZA =22(2€)
250,000& *2CH*13] 500
— R0ZH EH+=x2 2,952
Al=dE RE3IE
90,0003 201 & x12& 2,160
CEEM GETII ARA
66,0003 x 101 2« 128 792
—AHUAYE 2 2HAN 222
16,000 122 192
—AUAEE YA® ¥ HAZYI HA
1,000,000& 23] 2,000
—AdU=ZE 3% A 800,000& 23] 1,600
-2k ¥ 22F3x FA(HMs2, 2838, F

JI&E a3 ) 30& *200,0004 6,000
—AdU=ZE USL0I sR2el & A2

- 3,060

Al=EE IUSLI FXEH
180,000& »12& 2,160
ZEEN 25,0003 «3E 128 900
—HMSAE 22 FL (NS, Z2IHE, I}
dSDE EZIE) 500
HEW R HUA, S7, 572, H1E2E)
100, 000 & *5HK 500
—Hs2 TAIA EZASAE ZIEA =
= 350,000& x 13l 350
—JIAAMNBAE HESEY) BHEE =2
2,000,000& x13l 2,000
—EA8H =8 400,000& *43| 1,600
—EAEE FY(SBFEXE 108)
300,000 »12& 3,600
—KREIINE SH4ZIE W32 =+2(28)
9,000,000& =13l 9,000
02 =224l 661,937 628,937 33,000
03323 % HA 224,060
—&lg(ds2, 9%, 23018, 133

Z HUAZ =23 52, Z2UHINZS)

11,500, 000& =122 138,000
— 4. oxE2(Hs2, 2% RL20HE, I}

A3DE) 6,000,000& 123 72,000
—ESZNERE S 2,300,000& x23| 4,600
-, 28 sEX 4,710

Xt S XAl 65,0003 30 »22] 390
I B A= 2 25,0003 +3CH 23] 150




M MESAL22 L
X MSAME2et 23

oS4 HSAES 2 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
HAUALESH S 330,000& *3CH *13] 990
SgEEas 660,000 x3CH *13] 1,980
SR 2 200,000& *3CH x23] 1,200
—nNERY 22 4,400,000& 13| 4,400
—JIAAID HiA ® BE2 50,000& *13] 50
—RE= 200
UB R 240) x40 x12& 116
sSJ|H 1,750 x43| «»12& 84
— A Etor™ 2te| & 2l 3l H 100, 000& x 13 100
OHZHl 339,764
—d=s2 ¥ =g9& 48t 28,000,000 x12& 336,000
~HSE Y RLAIE SNA S Uy
400,000& 501 & 2,000
—WHIN & dA=H| 110,000x12& 1,320
—SYHIE 30 LPGIHA F¢
37,0002 125 %13 444
OA & &Hl S XYl 60,000
— 2= € JIAHEH Sy
3,500,000 x12& 42,000
—SEYFIE Yo AU+ =
00,000, 000& *3% 18,000
OrG=Fal=la] 38,113
— A ZH| 33,793
HALEA S 1,760 %2204 ~12& 4,647
3401E5 SEHA
1,760& %6904 *2CH*12& 29,146
— Xtk =2l 4,320
ARSI 60,000 x12& 720
34015 SEHA 150,000& 20 x12& 3,600
202 04| 1,642 1,589 53
01 2L Y| 1,642 1,589 53
OM=ESAAE S&X Al,=AHS 273,600x3YH *23| 1,642
206 M = Hl 48,000 39,300 8,700
01 X2 bl 48,000 39,300 8,700
OAUHLHEE HFLAE Y (D2NETHE)
400,000*12& 4,800
OBy H2AE(H2H 2) 300,000& 128 3,600
O&EIIME FU(HEHZ Q 75)
400,000 »12& 4,800
Os&) MEAE NLEZ MEHY HS2SE
2 13,000& 100 &£ 1,300
OHMsSAE &OEA 2 2EE 3,100
—DIANE R (1FEEH) 400,000 =4CH 1,600
— &2 500& *3,0000H 1,500

_3_




M MESAL22 L
X MSAME2et 23

Eel: MsAEE 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O=2XMsa 24 JAH Mg 7¢ 1,500
— AKX 2 7E 1,500,000& 14 1,500
OMSAE 836 M= 2
30,000& *30H x63| 5,400
O+=ZH HBHEAY MRAI 2L
30,0003 4004 23] 2,400
oHuAZ 22 235 7¢ 500,000 »12& 6,000
OHHELE A22E235 ¢ 2,400
— 2243 3.3kg 40,000 =30CH 1,200
— A5 A (40mm, 01 =ZSA) 25,0002 *30H4 750
—Ags A 2HE(40mm) 15,0002 304 450
ORMSH,+HE SLAINE Las Y22

,000,000& *30H A 3,000

O)
=2 H"EA8 324l 2H ¢

300, 0008 x2Z +24 € 1,200
ORFMHUAR DE 28 YSIH(Wkg) 7
o 40,0002 * 100 4,000
O%Y% PHOIRD| L (L2 2ES2 7Y
1,500,000%37H 4,500
307 212+0| & 50,000 50,000 0
EEEEE 50,000 50,000 0
ORF4 BAZTH DI2ASE
50,000,000 * 14} 50,000
405 Xt &HE S 4| 93,000 0 93,000
01 XHare 223 S| 93,000 0 93,000
O+ 0182 +58 Y UM 2Y(S
ss8) 90,000,000 *1CH 90,000
OMSAE SAHY W) 2 (LU,
SEAINF EEMHSBH) 1,000,000 *30H 3,000
SEINAEZ=ZSU0/YEH 24 61,230 74,580 A 13,350
201 Yyt gl 3,000 2,000 1,000
01 AtR 2tel | 3,000 2,000 1,000
OSEIRALZZ2H0/LHME LHE ZEXY
U YxE 500,0002 %63 3,000
307 2I2H0I & 58,230 58,230 0
EREEE 58,230 58,230 0
OSE2HAZZZA0IYME 21293
58,230,000 * 14} 58,230
MEAL | 359,000 369,500 £10,500
MEANE IS 22 359,000 369,500 £10,500
401 AIEHIZL 28I 359,000 369,500 A 10,500
01 Al bl 359,000 369,500 210,500




M MESAL22 L
FM: MESAL2elt 29
el MSAE Fbl fEH)
SN EH - (EH) - HRAY - BES il 2t
ORFLHUAZ StEDE WHSA
150,000, 000& * 14! 150,000
OSXMs2 S0 MIIZH DHSA
30,000,000 * 14! 30,000
OSEHs2 222 XJ| WS A
10,000, 0003 * 14! 10,000
OaU=g& XS 22 Zdg 2 222
S At 22,000,000 * 14! 22,000
OHUY+LE BED 2ABM
20,000, 0003 * 14! 20,000
OAU==ZE o AFRA St BHSA
15,000, 0003 * 14! 15,000
ORZEIIE A=t &Iz Zel3A
20,000, 0003 * 14! 20,000
0883 & 50 ot&4 cIZEEHIM
22,000,000 * 14! 22,000
ORFs BIABIH FHAE L 2SS
20,000,000 * 14! 20,000
OMSAE 2Xel ¥ 2==74l
50,000,000 * 14! 50,000
HE2AZH (MSAAE2elt) 107,798 105,937 1,861
A (M S AL 2elDt) 29,210 27,384 1,826
ol AL (M SAIL2ten) 29,210 27,384 1,826
101 @124l 29,210 27,384 1,826
01 2= 29,210 27,384 1,826
Osgz2==¥ 60,8533 x16%H «30 29,210
Jl2Z I (Ms A& 2e D) 78,588 78,553 35
Jl2ZUl(MsAI&2e 1) 78,588 78,553 35
201 €24l 42,993 42,993 0
01 At22t2l bl 42,993 42,993 0
Oget=gH| 7,323
—JIZ2AMREEHI 100,000 «16¥ 1,600
—JI2d84A83l 150, 000& 12 150
— SAISX 2l (=) 350,000 *1CH*43] 1,400
—SASNFY 20,0003 #bet A +122 1,200
—IOBH ¥ BARI2A(EURLYS) 2,573
ZTHEU 237,000 *3CH »32 2,133
WAEH 110,000& 1T x4 3] 440
—gEA FINSH(HSD, ZIIEF)
50,000& *83] 400
oz2g+g 23,750
— g, =3y 50,000 =1 475 23,750
O= &l 10,920




SN HSALBDY
o UHS AL (MSAL22ID)

S o T o

el D23 (HMSAIE2e D)

(o
SA - BB B () - MM - BES Ol &t o e
—AU+EE ME224 A
7,000 2% *300 4,200
—AAYT HEH A2 A
7,000 *16H 30 3,360
—HsAE 25U % SHALEH S2014H]
7,000 16«33«10 3,360
Oul=l 1,000
— &Y= 30,0002 10X 300
— Ot& St 30,000& 10 300
—&d3ZEE 100,000& 4 H 400
202 O4dl 31,815 31,780
01 = LHA YI 31,815 31,780
OHMSAE J=gR= 20
20,0003 «16H »83| x12& 30,720
OHMSAE J2gR= 220
273,600 x2H +23] 1,095
203 B R =&l 3,780 3,780
04 FENSEHR=LH 3,780 3,780
OMSsAL2tel 350,000& = 12& x90% 3,780




